6 | ) | L % 3 | 2 | ]

Important Lx M8
Installation only by qualified technicians. / 670
Always inspect this product prior to any installation and 170 / 330 170 15
check for damages etc.
Always use all four 9 mm mounting holes. / Lx M8
Always use all four M8 threads o ¥ ________________________ + ]
Always use the correct fasteners: ~ _@9_ 40 [° _@9_
4x M8x20 Screws DIN 912, 4x M8 washers DIN 125 | A | / /
4x M8 lock washer, turned part: ABD-644433 DT-301 %@—@—E}ﬁ 7
Only use with compatible displays. | N e |
Make sure the structure carrying the overall weight is stable. RN e I
Only for indoor usage. I } L s I I
Only for vertical usage. (no tilting etc.) (O] | \\%\4 e 1N
Only use in the pictured orientation. I } T e } I
Do not exceed the maximum load weight of 85 kg. I I \f e I I 2| g
o I -/ I \\/// I -/ I m|
=2 <| <
" Inl SN Al | 2
| | QS AN | | >| >
| | 4 N | |
| o N | |
| -/ | A/ \\ | ~ |
| | e N | |
| AN
| |/ < | |
7/
/I V0 o oo I\\ <
I N |
N L
(3
e U & }
VESA 300
&
VESA 400
S
VESA 600 <
\
\\\_.
Detail "A" N
e a I . @COI’VRIGI’!T EXACTSOLUTIQNS Material: ReViSiOn: 00
the EXACT SOLUTIONS. Supp”er:
M8 washer (DIN 129) Author 15.0D:t:020 FrankN;:I?olven Title:
M8 lock washer Checked Adapter Frame for Displays VESA 600x400 to
M8x20 screw (DIN 912) ¢ - Approved 400x400 and 300x300
urned part:
ABD-644433 DT-301 Dimenions in mm ya
— PartNr.: ABD-644433 35
Status Change log Date Name I Number of pages: 11

6 I 5 I A 4& 3 I 2 I 1




